HIWIN.

a5\
RABRZRTERIEC

4-row For Low-Profile Linear Guideway

=
1
=
i
-

EGHRY mmmymera2ansst » GEEREShME -
SEEMNEY - BRERNSOSEEHSE  RESAEL
LIRS - TIRNZRENELRRE - SHSEENTTR -
MEREAESEREEBREE » FLEaSREL
E IR ISR IR ) BB ER -

& 3 8l 52 &




HIWIN.

S 1EC%H

R IEEEN

J L
4-row For Low-Profile Linear Guideway EG%§J
71N\
m [fEF R

1. BEiERE

2. SEEWRE
3. EEEES g EGH-SA 214 11)0
4, YmEEE EGH-CA
5. KT B 42 4000
ii 24 100
EGW-SA L l l
EGW-CA |/ " 4000
& .
5]
9_}.2
24 100
EGW-SB | l
EGW-CB 42 4000

" EmAERsReA

2265 : EGW25CAE2R 1600EZAPII+KK

EG W 25 C A
iR

EG %3
SBIRATY
W : SERSRY
H : pg758d

R : 15, 20, 25, 30

B\
C:E8fW
S : &

BIREETTN
A FEET
B : NEIN

E : BRI LT
HECHR ¢ BB AL

BEEEBT”

%EH#%@L%T
¥&E: C, H, P, SP, UP

YERE: Z0, ZA, ZB

E : JBEUSIAII T
H|EDSR - JBEESIRIN T
BIRE (mm)
BIEEST
R/U = 383
T: NI
B BEAAEEAYBIREN
FEEESD
TREEELR
B Z0 0~0.02C
LG ZA 0.03~0.05C

FRYE[RR ZB 0.06~0.08C




HIWIN.

" fREFR

,,,,,,

*EJEF*E*% (%E:mm)

*'J EG15, EG20 EG25, EG30

*ﬁplgg &R | ek |Eoe |eamoe| mE6 | &R | WeR | oWsR | EAER
) sp) (UP) ©) (H) (SP)

BHIVERT v
Rju;ei'é £0 £0.09 -003 -0.015 -0.008 AU -0.04 -0.02 -0.01
EENNSEH 0 0 0 0 0 0
Ries L 003 503  -0015  -0008 01 004 504 o02 -0.01
B =SEHAY

f 002 001 0006  0.004 0.003 002 0015 0007  0.005 0.003
MHERZE
RS EEN

: 002 001 0006  0.004 0.003 003 0015 0007  0.005 0.003
MHEIRZE
B IR CE %Y
TBEVAER TEHIE \ TEFETE
TEFETE :
yB I DE Y
JEEBERY TEFETE TEFETE
TEFETE
TEFEITE

BIRE FBEEZFR (um)
(mm) __-__
~ 100 3 2 2

100 ~ 200 14 9 4 2 2

200 ~ 300 15 10 5 3 2

300 ~ 500 17 12 6 3 2

500 ~ 700 20 13 7 4 2

700 ~ 900 22 15 8 5 3

900 ~ 1,100 24 16 9 6 3

1,100 ~ 1,500 26 18 1 7 4

1,500 ~ 1,900 28 20 13 8 4

1,900 ~ 2,500 31 22 15 10 5

2500 ~ 3,100 33 25 18 1 6

3100 ~ 3,600 36 27 20 14 7

3.600 ~ 4,000 37 28 21 15 7




HIWIN.

BXRIMREREREARE

n (BEERESLE)
| A L L
E P ] ' E
L
(BEfiZ:mm)
B B EGR15 EGR20 EGR25 EGR30
160 (3) 220 (4) 220 (4) 280 (4)
220 (4) 280 (5) 280 (5) 440 (6)
280 (5) 340 (6) 340 (6) 600 (8)
340 (6) 460 (8) 460 (8) 760(10)
EERELN) 460 (8) 640(11) 640(11) 1,000(13)
640(11) 820(14) 820(14) 1,640(21)
820(14) 1000(17) 1,000(17) 2,040(26)
1240(21) 1,240(21) 2,520(32)
1,600(27) 3,000(38)
EIEE(P) 60 60 60 80
TZ=AEREE(Es) 20 20 20 20
BRAFERE 1960(33) 2,980(50) 4,000(67) 3,960(50)
RARE 2000 3,000 4,000 4,000
EGH-SA/EGH-CAR Y5
LY 5 e
e o kil i

1

@ E o

R BETEF%E 58

T w (W[ o el ] &[] ] [ [adwlwlo [» 4] 7 ]¢] s e
EGH15SA 24 45 95 34 26 4 - 231 407 57 M4x6 148 6 55 6 15 125 6 45 35 60 20 M3x16 535 940 008 004 004 009 125
EGHISCA 24 45 95 34 26 4 26 398 574 57 M4x6 1015 6 55 6 15 125 6 45 35 60 20 M3x16 783 1619 013 010 010 015 125
EGH205A 28 6 11 42 32 5 - 29 50612 M5x7 1875 75 6 6 20 155 95 85 6 60 20 M5x16 723 1274 013 006 006 015 208
EGH20CA 28 6 11 42 32 5 32481 697 12 M5x7 123 75 6 6 20 155 95 85 6 60 20 M5x16 1031 2113 022 016 016 024 208
EGH255A 33 7 125 48 35 65 - 355 61112 M6x9 219 8 8 8 2318 11 9 7 60 20 M6x20 1140 1950 023 012 012 025 267
EGH25CA 33 7 125 48 35 653559 846 12 M6x9 16158 8 8 2318 11 9 7 60 20 M6x20 1627 3240 038 032 032 041 267
EGH30SA 42 10 16 60 40 10 - 415 715 12 Msx122675 9 8 9 2823 11 9 7 8 20 M6x25 1642 2810 040 021 021 045 435
EGH30CA 42 10 16 60 40 10 40 70.1 1001 12 M8x122105 9 8 9 2823 11 9 7 80 20 M6x25 2370 4746 068 055 055 076 435




HIWIN.

m EGW-SA/EGW-CAR Y3

BHERY

EGW15SA 24 45 185 52 41 55 - 231 407 57 M5 148 5 7 556 15 125 6 45 35 60 20 M3x16 535 940 008 004 004 012 125

EGW15CA 24 45 185 52 41 55 26 398 574 57 M5 1015 5 7 556 15 125 6 45 35 60 20 M3x16 783 1619 013 010 010 021 125

EGW20SA 28 6 195 59 499 5 - 29 506 12 M6 1875 7 9 6 6 20 155 95 85 6 60 20 M5x16 723 1274 013 006 006 019 208

EGW20CA 28 6 195 59 49 5 32 481 697 12 M6 123 7 9 6 6 20 155 95 85 6 60 20 M5x16 1031 2113 022 016 016 032 208
EGW25SA 33 7 25 73 60 65 - 355 611 12 M8 219 75 10 8 8 23 18 11 9 7 60 20 M6x20 1140 1950 023 0.2 012 035 267
EGW25CA 33 7 25 73 60 65 35 59 846 12 M8 1615 75 10 8 8 23 18 11 9 7 60 20 M6x20 1627 3240 038 032 032 059 267
EGW30SA 42 10 31 9 72 9 - 415 715 12 M10 2675 7 10 8 9 28 23 11 9 7 80 20 M6x25 1642 2810 040 021 021 062 435
EGW30CA 42 10 31 9 72 9 40 70.1 100.1 12 M10 2105 7 10 8 9 28 23 11 9 7 80 20 M6x25 2370 4746 068 055 055 1.04 435
m EGW-SB/EGW-CBR TR

Ki Ky

G L G.
L, L,
C
4-M M
©
EGW-CB EGW-SB . L

EGW15SB 24 45 185 52 41 55 - 231 407 57 @245 148 5 7 55 6 15125 6 45 35 60 20 M3x16 535 940 008 004 004 012 125

EGW15CB 24 45 185 52 41 55 26 398 574 57 @45 1015 5 7 55 6 15125 6 45 35 60 20 M3x16 783 1619 013 010 010 021 125
EGW20SB 28 6 195 59 49 5 - 29 506 12 @55 1875 7 9 6 6 20 155 95 85 6 60 20 M5x16 723 1274 013 006 006 019 208
EGW20CB 28 6 195 59 49 5 32 481 697 12 @55 123 7 9 6 20 Ms5x16 1031 2113 022 016 016 032 208
EGW25SB 33 7 25 73 60 65 - 355 611 12 &7 219 75 10 8
EGW25CB33 7 25 73 60 65 3559 846 12 &7 1615 75 10
EGW30SB 42 10 31 90 72 9 - 415 71512 @9 2675 7 10
EGW30CB 42 10 31 90 72 9 40 701 1001 12 @9 2105 7 10

20 155 95 85
2318 11 9

20 M6x20 1140 1950 023 012 012 035 267

20 M6x20 1627 3240 038 032 032 059 267

20 Mé6x25 1642 2810 040 021 021 062 435

6
8
8 2318 11
9
9

© (0o |
N (N (NN o
88|88 |8

9
2823 11 9
9

28 23 11 20 Mé6x25 2370 4746 068 055 055 104 435




HIWIN.

u FEEIVINARBEAEILE)BER Y«

Hr

i _ i ! !
”;”T ? M »——i—d ,”" »——37—4
L ! \ P P

BIEERERY
(mm)
EGR15U M4 x 16 15 12.5 7.5 5.3 4.5 60 20 1.23
EGR30U M8 x 25 28 23 14 12 9 80 20 4.23

" MEBER YR

BELRT (mm)

EGR15T

5x 0.8P 0 1.26

EGR20T 20 1P 0 2.15
EGR25T 23 18 M6 x 1P 10 60 20 2.79
EGR30T 28 23 M8 x 1.25P 14 80 20 4.42

ARG N ARG T > STl -

HIWIN.

% B ¥ OB K B #





